Al

e —

[n l’yuf 5(( F'[ ‘»L,-‘Hc;'a" Cf)(: ‘é)i L5

{-i/'yl‘,(f%i-*’7 of /zﬂMS)



l i N B
\_&iﬁédw‘v@f ar
TeoM | aasihe {5 aQ 4 AsCOgi\e H, /&_@
ak 20° | a.d | 7O7 qalks |, € 1 | Tree {m,(-‘w &4 £y
o Wistan | €ross lsechivn| |oF Hu gas glodd] % Ae /Cf}zu'l,«ed’.
i‘.cs
Wit | Elol | viscoghy | Lo 4B tayliness | oF| @ Isbcace 1>
desirihe G 1€l | [Glaghe 14 ¢l Lol & ol 03/
G, po(/cxm“v‘t) (0(’?()4;".9,,( % I &l bk RS ¢
N =z aAcl; | |plgas | dawsitiy | | A lneaa| bxee gatls | [} Merr taolecthe
‘;,"‘g g 7\42 A |/ l@?i{‘
0= A E 4N AP el [) | Uscostiy,
13 | rA T3 o W | GZ 10 CA7 Vi 54
Pl Qiesoce | AL holecilar mss| | (L Onierst| Isey COrs)aat
Tt Q9so(e] Tew)eapr £ Ndny, §Tbs 7:lcolilon |Cross Bechlos
s 7
F00m Clege | Foughbas | dedd 1§43 | SoSshwha ;g 2 oy ® 13
1 § 77 ’3_?7 Ed
&3 | Yoo| sel !’7) = |7 ) -—'%" y7% i J Ak /(/az 418 pompt
As | al resyl)l |, Fae =, | ee pafl laad| Gl (colislen cres
5fc )[7\9/’ Can | de £ /f//m'ﬂeo Qs |a| feasom~ pﬂ e | to, | Foleculor
Lt ttel
Foi |€le acunlyl  Bases £ Hopd + foiscedlels | Lo i
vsed| For M lax ’fﬁc./;,
el iélap
M = TTell, 0 codus of |l | Cap/llaly
€:How Ere op i pressoe A ,
U 1 Tany |gac dellnd L Loy Ll #e 5;@'/4
77 / f 7
For| {4 preiss Arep: op = o -4, b r;{ c :( ale gea vileon [
J U Y1 % dcelashvn
G ey
.
Plrecedure L
‘ w \ {1 baly pall
= g 45 ol
— ol Uy 1! {;HC.‘ Yoh alie
¢ L TMf Coah [eclel
’ ‘ 4 Dr M K| Mg C‘l'/h(fﬁ r
B I k 28% B —J —J L:( 1 Copped C(Dg“u bl
S ¢ Tdee /
—/ B0 Aodleds
# | Seqp | Lame ‘ygdlt




&=

s
&

Crlitwr | (5| [Opneched d b | ohessolt | IF |5 | &

~|

LS
Py
Sl
=l
i
=
~
NS
o~

THe |ER2 | areasion | vz(U cofl

N

o s | sekl (] shol9 reqd| v SEScp | | | |

‘(4' Ad <;c’Iue:7:%1 or + Ede S| | cusses 923 $ udd ey ,":{\97/‘4
é ohp | spluon | Uese |are |Gareed| S| Gue S5 EGQrob

é Pe | iro ﬂl,ﬁ & (Zf’ 67 e sy avy Ele| Pre | 64
& of| tor| €ais | dishace |, bo #al o M

B n | Llak |64 s ol [y | for| adacf| |Slm |Earo
¢ c%gpqmws el €

|

%)

JN
i
<
o\

bde [ 75 fMob ol MO £

F
20°c) | |Asd |aobe| EYe pressin Aigﬁ-e,(aa.

QQ&LMM_&F exnerlent| A46




data aralysis - resolts

/

CO; H2
value + Value + Value * value +
ca) TinK 293,5 0,1 294,65 0,1 343,5 0,1 342,65 0,1
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d) ¢ f, in | 1,54E-05 4,09E-06- | 8,03E-06 2;63E-66 | 1,93E-05 6;13E-66 | 1,00E-05 277E-06-
ke/m/s 521077 3,23 267 766157 C4C- 167
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